NX-5000 series
NX-3000 series
NX-1000 series

USER GUIDE

GUIDE DE L'UTILISATEUR
GUIA DEL USUARIO
GUIDA PER L'UTENTE
BENUTZERHANDBUCH

GEBRUIKERSHANDLEIDING

KULLANICI REHBERI

OAHIOX XPHZTH
GUIA DO UTILIZADOR EE c €
. EE
JVCKENWOOD Corporation B5A-4029-10 (E) Dmi¥Hs
Model Frequency range Max. output power
TX/RX 136.000 - 174.000 MHz 25W
NX-5700-E GPS 1575.42 + 1 MHz -
Bluetooth 2402 - 2480 MHz Class2/2.5 mW
TX/RX 400.000 - 470.000 MHz 25W
NX-5800-E GPS 1575.42 + 1 MHz -
Bluetooth 2402 - 2480 MHz Class2 /2.5 mW
NX-3720-E TX/RX 136.000 - 174.000 MHz 25W
TX/RX 136.000 - 174.000 MHz 25W
NX-3720G-E GPS 1575.42 + 1 MHz -
Bluetooth 2402 - 2480 MHz Class2 /2.5 mW
NX-3820-E TX/RX 400.000 - 470.000 MHz 25W
TX/RX 400.000 - 470.000 MHz 25 W
NX-3820G-E GPS 1575.42 + 1 MHz -
Bluetooth 2402 - 2480 MHz Class2 /2.5 mW
NX-1700-E TX/RX 136.000 - 174.000 MHz 25W
NX-1800-E TX/RX 400.000 - 470.000 MHz 25W

Access the following URL or QR code for the precautions to use this product and for the simple guide.

Refer to the “SIMPLE GUIDE”. Reportez-vous au «GUIDE SIMPLE». Consulte la”GUIA SENCILLA". Fare
riferimento alla “GUIDA RAPIDA". Siehe die “EINFACHE ANLEITUNG”. Raadpleeg de “EENVOUDIGE GIDS".
“KOLAY KILAVUZ” bakin. Avatpé€te otov “AMAOS OAHIOZ”. Féach an “TREOIR SHIMPLI". Vaadake
“KIIRJUHEND”. Pogledaijte “KRATKIVODIC”. Se “SNABBGUIDE”. Preéitajte si ,STRUCNA PRIRUCKA®. Glejte
“KRATKA NAVODILA". Viz ,JEDNODUCHY NAVOD*. Se “ENKEL GUIDE”. Lasd az “EGYSZERU KEZIKONYV”.
Katso “YKSINKERTAINEN OPAS”. O6bpHeTe ce kbM “OCHOBHO PBHKOBOACTBO 3A EKCIJIOATALMNA”.
Consulte 0 “GUIA SIMPLES”. Zapoznaj sig z ,INSTRUKCJA UPROSZCZONA". Irreferi ghall- “GWIDA
SEMPLICI”. Skatiet “VIENKARSA PAMACIBA". Zr. ,PAPRASTAS VADOVAS*. Consultati ,GHID SIMPLU”.

https://manual.kenwood.com/files/B5K-0413-00.pdf

INFORMATION ON SOFTWARE LICENSE

This transceiver uses a software according to the following license agreements.

*zlib LICENSE (NX-5000 series/ NX-3000 series)

Copyright (C) 1995-2013 Jean-loup Gailly and Mark Adler

This software is provided ‘as-is’, without any express or implied

warranty.

In no event will the authors be held liable for any damages arising from

the use of this software.

Permission is granted to anyone to use this software for any purpose,

including commercial applications, and to alter it and redistribute it

freely, subject to the following restrictions:

1. The origin of this software must not be misrepresented; you
must not claim that you wrote the original software. If you use
this software in a product, an acknowledgment in the product
documentation would be appreciated but is not required.

2. Altered source versions must be plainly marked as such, and
must not be misrepresented as being the original software.

3. This notice may not be removed or altered from any source

distribution.

Jean-loup Gailly (jloup@gzip.org)

Mark Adler (madler@alumni.caltech.edu)

*libpng LICENSE (NX-5000 series/ NX-3000 series)
This copy of the libpng notices is provided for your convenience. In
case of any discrepancy between this copy and the notices in the file
png.h that is included in the libpng distribution, the latter shall prevail.
COPYRIGHT NOTICE, DISCLAIMER, and LICENSE:
If you modify libpng you may insert additional notices immediately
following this sentence.
This code is released under the libpng license. libpng versions 1.2.6,
August 15, 2004, through 1.6.8, December 19, 2013, are Copyright
(c) 2004, 2006-2013 Glenn Randers-Pehrson, and are distributed
according to the same disclaimer and license as libpng-1.2.5 with the
following individual added to the list of Contributing Authors

Cosmin Truta
libpng versions 1.0.7, July 1, 2000, through 1.2.5 - October 3, 2002, are
Copyright (c) 2000-2002 Glenn Randers-Pehrson, and are distributed
according to the same disclaimer and license as libpng-1.0.6 with the
following individuals added to the list of Contributing Authors

Simon-Pierre Cadieux Eric S. Raymond
Gilles Vollant

and with the following additions to the disclaimer:
There is no warranty against interference with your enjoyment of the
library or against infringement. There is no warranty that our efforts
or the library will fulfill any of your particular purposes or needs. This
library is provided with all faults, and the entire risk of satisfactory
quality, performance, accuracy, and effort is with the user.
libpng versions 0.97, January 1998, through 1.0.6, March 20,
2000, are Copyright (c) 1998, 1999 Glenn Randers-Pehrson,
and are distributed according to the same disclaimer and license
as libpng-0.96, with the following individuals added to the list of
Contributing Authors:

Tom Lane

Willem van Schaik
libpng versions 0.89, June 1996, through 0.96, May 1997, are
Copyright (c) 1996, 1997 Andreas Dilger Distributed according to
the same disclaimer and license as libpng-0.88, with the following
individuals added to the list of Contributing Authors:

John Bowler Kevin Bracey

Sam Bushell Magnus Holmgren

Greg Roelofs Tom Tanner

Glenn Randers-Pehrson

libpng versions 0.5, May 1995, through 0.88, January 1996, are
Copyright (c) 1995, 1996 Guy Eric Schalnat, Group 42, Inc.

For the purposes of this copyright and license, “Contributing Authors” is
defined as the following set of individuals:

Andreas Dilger Dave Martindale
Guy Eric Schalnat Paul Schmidt
Tim Wegner

The PNG Reference Library is supplied “AS IS”. The Contributing

Authors and Group 42, Inc. disclaim all warranties, expressed or

implied, including, without limitation, the warranties of merchantability

and of fitness for any purpose. The Contributing Authors and Group

42, Inc. assume no liability for direct, indirect, incidental, special,

exemplary, or consequential damages, which may result from the use

of the PNG Reference Library, even if advised of the possibility of such

damage.

Permission is hereby granted to use, copy, modify, and distribute this

source code, or portions hereof, for any purpose, without fee, subject to

the following restrictions:

1. The origin of this source code must not be misrepresented.

2. Altered versions must be plainly marked as such and must not
be misrepresented as being the original source.

3. This Copyright notice may not be removed or altered from any
source or altered source distribution.

The Contributing Authors and Group 42, Inc. specifically permit, without

fee, and encourage the use of this source code as a component to

supporting the PNG file format in commercial products. If you use this

source code in a product, acknowledgment is not required but would

be appreciated.

A“png_get_copyright” function is available, for convenient use in

“about” boxes and the like:

printf(“%s”,png_get_copyright(NULL));

Also, the PNG logo (in PNG format, of course) is supplied in the files

“pngbar.png” and “pngbar.jpg” (88x31) and “pngnow.png” (98x31).

Libpng is OSI Certified Open Source Software. OS| Certified Open

Source is a certification mark of the Open Source Initiative.

Glenn Randers-Pehrson

glennrp at users.sourceforge.net

December 19, 2013

*Md5 (NX-5000 series/ NX-3000 series/ NX-1000 series)
Copyright (C) 1999, 2000, 2002 Aladdin Enterprises. All rights
reserved.

This software is provided ‘as-is’, without any express or implied

warranty.

In no event will the authors be held liable for any damages arising

from the use of this software.

Permission is granted to anyone to use this software for any

purpose, including commercial applications, and to alter it and

redistribute it freely, subject to the following restrictions:

1. The origin of this software must not be misrepresented; you
must not claim that you wrote the original software. If you use
this software in a product, an acknowledgment in the product
documentation would be appreciated but is not required.

2. Altered source versions must be plainly marked as such, and
must not be misrepresented as being the original software.

3. This notice may not be removed or altered from any source
distribution.

L. Peter Deutsch

ghost@aladdin.com

TRANSCEIVER

USER GUIDE

EMETTEUR-RECEPTEUR

GUIDE DE LUTILISATEUR

TRANSCEPTOR

GUIA DEL USUARIO

RICETRASMETTITORE

GUIDA PER LUTENTE

This User guide covers only the basic operations of your radio.
For using details instruction manual, refer to the following URL
or QR code.

https://manual.kenwood.com/files/B5K-1000-00.pdf

SUPPLIED ACCESSORIES

Carefully unpack the transceiver. We recommend that you identify the items listed
in the following list before discarding the packing material. If any items are missing
or have been damaged during shipment, file a claim with the carrier immediately.

Cette Guide de I'utilisateur couvre uniquement les opérations
de base de votre radio. Pour utiliser ce manuel d’instruction
(User Manual) en détail, reportez-vous a 'URL suivante ou
code QR.

https://manual.kenwood.com/files/B5K-1000-00.pdf

ACCESSOIRES FOURNIS

Déballez soigneusement I'émetteur-récepteur. Prenez soin de vérifier la présence
des articles ci-dessous avant de vous débarrasser du matériel d’emballage.
S’il manque un des éléments ou si un élément est endommagé, remplissez

Este Guia del Usuario sélo cubre las operaciones basicas de
su radio. Para ver el manual de instrucciones de detalles de
uso , consulte el siguiente URL cédigo QR.

https://manual.kenwood.com/files/B5K-1000-00.pdf

Questa guida per I'utente spiega soltanto i fondamenti d’'uso
del ricetrasmettitore. Il manuale d’istruzioni dettagliato
scaricabile dall’indirizzo o codice QR.

https://manual.kenwood.com/files/B5K-1000-00.pdf

ACCESORIOS SUMINISTRADOS

ACCESORI FORNITI

Desembale el transceptor con cuidado. Le recomendamos que logre identificar
los elementos que se indican a continuacion antes de deshacerse del material de
embalaje. Si falta o ha resultado dafiado algun articulo durante el envio, presente
inmediatamente una reclamacion a la empresa de transporte.

Disimballare con cura il ricetrasmettitore. Prima di eliminare il materiale
d’imballaggio, si consiglia di verificare la presenza degli articoli contenuti
nell’elenco seguente. In caso di parti mancanti o danneggiate, inoltrare
immediatamente reclamo al corriere.

ltem NX-5000 NX-3000 NX-1000 immédiatement un formulaire de plainte avec le livreur.
series series series - - - Articulo Serie Serie Serie Articolo Serie Serie Serie
DC power cable with fuses (15 A) 1 1 ~ Article N)s(?r:;)% 0 N)s(i;tl)% 0 N)s(irtl)?) 0 NX-5000 NX-3000 NX-1000 NX-5000 NX-3000 NX-1000
: Cable de alimentacion CC con fusibles (15 A) 1 1 - Cavo di alimentazione c.c. con fusibili (15 A) 1 1 -
DC power cable with fuses (10 A) - - 1 Céable d’alimentation CC avec fusibles (15 A) 1 1 - - — . ot : bili
Mounting bracket 1 1 1 Cable de alimentacion CC con fusibles (10 A) - - 1 Cavo di alimentazione c.c. con fusibili (10 A) - - 1
9 Cable d’alimentation CC avec fusibles (10 A) - - 1 S o a a ] p ] Saffad a0 1 1 1
- — — oporte de montaje affa di montaggio
Microphone 1 Support de montage 1 1 1 — -
Microphone hanger 1 - - Microphone " ~ ~ Micréfono 1 - - Microfono 1 - -
4x 16 mm self-tapping screw 3 — B Crochot & miorophons ] — — Horquilla del micréfono 1 - - Gancio microfono 1 - -
Screw set Tornillo autorroscante de 4 x 16 mm 3 - - Vite autofilettante 4 x 16 mm 3 - -
Vis taraudeuse 4 x 16 mm 3 - - i o
5 x 16 mm self-tapping screw 4 4 4 Ensemble de vis Juego de tornillos Setdivit
M4 x 6 mm hex-headed screw with washer 4 4 4 Vis faraudeuse 5 x 16 mm 7 7 7 Tornillo autorroscante de 5 x 16 mm 4 4 4 Vite autofilettante 5 x 16 mm 4 4 4
; Tornillos de cabeza hexagonal con arandela Vite esagonale con rondella M4 x 6 mm 4 4 4
Spring washer 4 4 4 Vis a téte hexagonale et rondelle M4 x 6 mm 4 4 4 de M4 x 6 mm 4 4 4
Flat washer P 4 4 . Rondella a molla 4 4 4
Rondelle a ressort. 4 4 4 Arandela de resorte 4 4 4 )
User guide 1 1 1 Rondella piatta 4 4 4
9 Rondelle ordinaire 4 4 4 Arandela plana 4 4 4 -
Guida per l'utente 1 1 1
Guide de l'utilisateur 1 1 1 Guia del usuario 1 1 1
BASIC OPERATION 0 0 S
> FUNZIONAMENTO DI BASE
NX-5000 series FONCTIONNEMENT DE BASE OPERACIONES BASICAS
’ . Serie NX-5000
Display Série NX-5000 Serie NX-5000 Displ
. 10) isplay
YTy} Affichage Pantalla

~ [ 11 / 1]}
N\ | —
Status indicator Speaker

lllumination sensor
NX-3000 series

0} Display
|

(@,

Status indicator
NX-1000 series

Display

Q) |

Operation buttons

AN—

KENWOOD

==

Operation buttons Speaker

Status indicator Speaker

Microphone

PTT switch

SWITCHING POWER ON/OFF
Press [®] to switch the transceiver ON.
Press [(D] again to switch the transceiver OFF.

ADJUSTING THE VOLUME
Press the button programmed as [Volume Up] to increase the volume.
Press the button programmed as [Volume Down] to decrease the volume.

SELECTING A ZONE AND CHANNEL
Select the desired zone and channel using the buttons programmed as [Zone Up)/
[Zone Down] and [Channel Up]/ [Channel Down].

TRANSMITTING

1 Select the desired zone and channel.

2 Press the PTT switch and speak into the microphone. Release the PTT switch
to receive.
* For best sound quality, hold the microphone approximately 3 ~ 4 cm (1.5
inches) from your mouth.

RECEIVING

Select the desired zone and channel. If signaling has been programmed on the
selected channel, you will hear a call only if the received signal matches your
transceiver settings.

(KENWOOD]J

&I

Indicateur d’état
Capteur d’éclairage

Série NX-3000

Haut-parleur
Boutons de fonctionnement

Affichage

Indicateur d’état Boutons de fonctionnement

Série NX-1000
)

Haut-parleur

Affichage

Boutons de fonctionnement

Indicateur d’état Haut-parleur

Microphone

MISE SOUS/ HORS TENSION
Appuyez [(h] pour mettre I'émetteur-récepteur sous tension.
Appuyez a nouveau sur [(D] pour mettre I'émetteur-récepteur hors tension.

REGLAGE DU VOLUME

Appuyez sur la touche programmée en tant que [Volume haut] pour augmenter le
volume.

Appuyez sur la touche programmeée en tant que [Volume bas] pour diminuer le
volume.

SELECTION D’UNE ZONE ET D'UN CANAL

Sélectionnez la zone et le canal souhaités a I'aide des boutons programmés en
tant que [Zone haut)/ [Zone bas] et [Canal haut]/ [Canal bas].

TRANSMISSION

1 Sélectionnez la zone et le canal voulus.

2 Appuyez sur le commutateur PTT et parlez dans le microphone. Relachez le
commutateur PTT pour recevoir
¢ Pour une meilleure qualité du son, tenez le microphone a environ 3 ~ 4 cm
de votre bouche.

RECEPTION

Sélectionnez la zone et le canal voulus. Si la signalisation a été programmé
sur le canal sélectionné, vous entendrez un appel uniqguement si le signal regu
correspond aux réglages de votre émetteur-récepteur.

KENWOODJ

———
LI
) S~——
L N\ —
Indicador de estado Altavoz

Sensor de iluminacion

Serie NX-3000
0 Pantalla
|

(]

Botones de operacion

I
W

) -

Indicador de estado
Serie NX-1000
d

Botones de operacion Altavoz

Pantalla

=

T (CKENWOOD )

Indicador de estado

Botones de operacion Altavoz

Microéfono

Conmutador de PTT

ENCENDIDOY APAGADO
Pulse [(D] para activar el transceptor.
Vuelva a pulsar [(D] para apagar el transceptor.

AJUSTE DEL VOLUMEN
Pulse el boton programado como [Subir volumen] para aumentar el volumen.
Pulse el boton programado como [Bajar volumen] para reducir el volumen.

SELECCION DE UNA ZONAY CANAL
Seleccione la zona y el canal deseados utilizando los botones programados como
[Zona arriba]/ [Zona abajo] y [Subir canal]/ [Bajar canal].

TRANSMISION

1 Seleccione la zona deseada mediante.

2 Presione el conmutador PTT y hable al micréfono. Suelte el conmutador PTT
para recibir.

* Para obtener una calidad de sonido optima, sujete el micréfonoa 3 6 4 cm
de la boca.

RECEPCION

Seleccione la zona y el canal deseados. Si se ha programado la funcion de
sefalizacion en el canal seleccionado, sélo oira las llamadas en las que la sefal
recibida coincida con la configuracion del transceptor.

U<ENWOOD)

8\
Yoloa o

\

—_—
- _~

Ty

@

Indicatore di stato
Sensore d'illuminazione

Serie NX-3000
(0} Display

Altoparlante
Pulsanti di funzionamento

Pulsanti di funzionamento

Indicatore di stato
Serie NX-1000
b

Altoparlante

Display

Pulsanti di funzionamento

Indicatore di stato Altoparlante

Microfono

ACCENSIONE E SPEGNIMENTO
Premere [(D] per accendere il ricetrasmettitore.
Premere [(®] di nuovo per spegnere il ricetrasmettitore.

REGOLAZIONE DEL VOLUME
Premere il pulsante programmato come [Volume su] per aumentare il volume.
Premere il pulsante programmato come [Volume giu] per diminuire il volume.

SELEZIONE DI UNA ZONA E DI UN DI CANALE

Selezionare la zona e il canale desiderati utilizzando i pulsanti programmati come
[Zone su]/ [Zone giu] e [Canale su]/ [Canale giu].

TRASMISSIONE

1 Selezionare la zona e il canale desiderati.

2 Premere linterruttore PTT e parlare nel microfono. Rilasciare l'interruttore PTT
per la ricezione.
¢ Per ottenere una migliore qualita del suono, tenere il microfono a circa 3 ~ 4
cm dalla bocca.

RICEZIONE

Selezionare la zona e il canale desiderati. Se sul canale selezionato & stata
programmato uno specifico tipo di segnalazione, la ricezione da parte di un altro
corrispondente potra avvenire solo se le segnalazioni risulteranno compatibili ed
idonee al formato utilizzato in fase di programmazione.


https://manual.kenwood.com/files/B5K-0413-00.pdf

FUNKGERAT

ZENDONTVANGER

TELSIzi

NOMMNOAEKTHZ

TRANSCETOR

BENUTZERHANDBUCH

GEBRUIKERSHANDLEIDING

KULLANICI REHBERI

OAHIOz XPHZTH

GUIA DO UTILIZADOR

In dieser Benutzerhandbuch sind die Grundfunktionen lhres
Mobilfunkgeréats beschrieben. Eine detaillierte Bedienungsanleitung
fi nden Sie bei der folgenden URL oder QR-Code.

https://manual.kenwood.com/files/B5K-1000-00.pdf

Deze Gebruikershandleiding beschrijft alleen de basisbediening
van uw radio. Zie de volgende website of QR-code voor een
gedetailleerde Gebruiksaanwijzing.

https://manual.kenwood.com/files/B5K-1000-00.pdf

Bu Kullanici Rehberi yalnizca telsizinizin temel fonksiyonlarini
anlatmaktadir. Kullanimia ilgili ayrintilar ve Kullanici El Kitabi icin
asagidaki URL adresine bagvurun veya QR kodu.

https://manual.kenwood.com/files/B5K-1000-00.pdf

AuTog 0 O8NYyo6g XproTn KAAUTITEL MOVO TIG BACIKEG AEITOUPYIES
Tou TOUTIOSEKTN oag. MNa AemTopépeleg Xpriong kat To Eyxelpidio
Xpnotn, avatpéEte otnv mapakatw dievbuvon URL 1} QR kwdika.

https://manual.kenwood.com/files/B5K-1000-00.pdf

Este Guia do Utilizador cobre apenas as operac¢ées basicas do seu
radio. Para utilizar o Manual do Utilizador detalhado, consulte o
seguinte URL ou cédigo QR.

https://manual.kenwood.com/files/B5K-1000-00.pdf

MITGELIEFERTES ZUBEHOR

BIJGELEVERDE ACCESSOIRES

SAGLANAN AKSESUARLAR

NAPEXOMENA AZEZOYAP

ACESSORIOS FORNECIDOS

Packen Sie den Transceiver vorsichtig aus. Wir empfehlen, dass Sie die Lieferung anhand
der folgenden Liste auf Vollstandigkeit prufen, bevor Sie das Verpackungsmaterial
entsorgen. Falls Teile fehlen oder Transportschaden festgestellt werden, reklamieren Sie
diesen Umstand bitte umgehend beim Spediteur.

Pak de zendontvanger voorzichtig uit. Wij adviseren u de onderdelen die in
onderstaande lijst vermeld staan te identificeren voordat u het verpakkingsmateriaal
weggooit. Als onderdelen ontbreken of tijdens het vervoer beschadigd zijn, moet u
onmiddellijk een schadeclaim indienen bij de vervoerder.

Telsizi ambalajindan dikkatle ¢ikarin. Ambalaj malzemelerini atmadan 6nce asagidaki
listede verilmig olan pargalari tanimlamanizi éneririz. Herhangi bir parcanin eksik ya da
nakliye sirasinda hasar gérmis olmasi halinde, derhal nakliyeci firmaya resmi itirazda
bulunun.

AdaipeaTe TOV TIOUTIOSEKTT ATIO TI GUCKEUAGIA [E TIPOCOXT). ZUVIGTOUE, TIPLV Va
TETAEETE TO UAIKO OUOKELAOIAG, VA AVAYVWPICETE TA AVTIKEEVA TIOU TIEPLYPAPOVTAL
mapakdtw. Edv kdmolo avtikeipevo Aeimel 1§ €xelL kataoTpadei KATd TN SIAPKELD TNG
arooToANG, anooTeilete Aueoa Wia aitnon oto popéa.

Desempacote cuidadosamente o transcetor. Recomendamos que identifique os itens
listados abaixo antes de descartar o material de embalagem. Se algum item estiver em
falta ou danificado, faga imediatamente uma reclamacgéao a sua transportadora.

Artigo Série Série Série
NX-5000 NX-3000 NX-1000 NX-5000 NX-3000 NX-1000 NX-5000 NX-3000 NX-1000 Zelpa Zepa Zelpa NX-5000 NX-3000 NX-1000
Gegenstand -Serie -Serie -Serie -serie -serie -serie Makale serisi serisi serisi Apbpo NX-5000 NX-3000 NX-1000
Cabo de alimentagdo de CC com fusiveis (15 A) 1 1 -
Gleichstromversorgungskabel mit Sicherungen (15 A) 1 1 - Gelijkstroomkabel met zekeringen (15 A) 1 1 - DC gli¢ kablosu sigortalar ile birlikte (15 A) 1 1 - KaAwdlo ouvexolg pevpatog He aoPAAeLeg (15 A) 1 1 - Cabo de alimentagao de CC com fusiveis (10 A) _ _ 1
Gleichstromversorgungskabel mit Sicherungen (10 A) - - 1 Gelijkstroomkabel met zekeringen (10 A) - - 1 DC gli¢ kablosu sigortalar ile birlikte (10 A) - - 1 KaAwd1o ouvexoUg peUHATOG He AodAAELES (10 A) - - 1 Suporte de montagem 1 1 1
Einbauhalterung 1 1 1 Montagebeugel 1 1 1 Montaj Kizagi 1 1 1 Bdon ZmpiEng 1 1 1 Microfone 1 _ -
Mikrofon 1 - - Microfoon 1 - - Mikrofon 1 - - Mikpdpwvo 1 - -
' ! ! tkpOdw Gancho de microfone 1 - -
Mikrof fha 1 - - Microfoonhaak 1 - - Mikrof ki 1 - - Yrodoxr ot i 1 - -
ikrofonaufhangung icrofoonnaa Ikroton askisi TS0 OTAPIENG MKPOGWVOU Parafuso auto-roscante de 4 x 16 mm 3 - -
4 x 16 mm-Schneidschraube 3 - - Plaatschroef 4 x 16 mm 3 - - 4 x 16 mm kendi delebilen vida 3 - - AapapivépBida 4 x 16 mm 3 - -
Jogo de parafusos
Schraubi tz: Sch t Vid ti pX>; 5 Bide
chraubensatz . chroevense lda seti . ‘ . T anod Biseg Parafuso auto-roscante de 5 x 16 mm 4 4 4
5 x 16 mm-Schneidschraube . 4 4 4 Plaatschroef 5 x 16 mm 4 4 4 5 x 16 mm kendi delebilen vida 4 4 4 AapapvoBida 5 x 16 mm 4 4 4 Parafuso de cabega sextavada de M4 x 6 mm com . R R
M4 x 6 mm-Sechskantschraube mit 4 4 4 Zeskantschroef met sluitring M4 x 6 mm 4 4 4 M4 x 6 mm rondelali imbus vida 4 4 4 BiSa pe eEaywvn Kedpahr pe podéAa M4 x 6 mm 4 4 4 anilha
Unterlegscheibe Anilha d a 4 4 4
Federscheibe 4 4 4 Veerring 4 4 4 Yayli rondela 4 4 4 Po&éAa acdaleiag 4 4 4 nilha de pressao
_ Platte ring 4 4 4 Diiz rondela 4 4 4 Eminesdn podéAa 4 4 4 Anilha plana 4 4 4
Unterlegscheibe 4 4 4 Guia do utilizador 1 1 1
ikershandleidi 1 1 1 Kull Rehberi 1 1 1 6Gg Xpr; 1 1 1
Benutzerhandbuch 1 1 1 Gebruikershandieiding ullanici Rehberi Odnyodg Xpriotn
BASISBEDIENING TEMEL iSLEMLER BAZIKEZ AEITOYPTIEZ OPERACOES BASICAS
GRUNDLEGENDE BEDIENUNG S
. NX-5000-serie NX-5000 serisi Zeipa NX-5000 Série NX-5000
NX-5000-Serie Disol Ek 066 Display
ispla ran 6V
Anzeige pay (P "
TRENWOOD) EENWOoD) R e —— RERNWOOD) o~ TRENWOOD) RENWOOD) —~

—
——

('YgAJng, )
)

v
'
'
'
'

!
i
i
i
'
]
.

[=n=«n| o [a] @)=

RSN - =)

Status-Anzeige
Beleuchtungssensor

NX-3000-Serie
0} Anzeige

Lautsprecher
Bedientasten

Status-Anzeige Bedientasten

NX-1000-Serie

Lautsprecher

Anzeige

e

Y((RERwoon )

Status-Anzeige Lautsprecher

Mikrofon

EIN-/AUSSCHALTEN
Driicken Sie [(®], um den Transceiver einzuschalten.
Driicken Sie [(M] erneut, um den Transceiver auszuschalten.

EINSTELLEN DER LAUTSTARKE

Driicken Sie die als [Lautstérke lauter] programmierte Taste, um die Lautstérke zu
steigern.

Driicken Sie die als [Lautstérke leiser] programmierte Taste, um die Lautstérke zu
verringern.

ZONE UND KANAL AUSWAHLEN

Wabhlen Sie die gewiinschte Zone und den Kanal mit den als [Zone aufwérts])/ [Zone
abwarts] und [Kanal aufwarts]/ [Kanal abwérts] programmierten Tasten.
SENDEN

1 Wahlen Sie die gewiinschte Zone und den gewlinschten Kanal aus.

2 Dricken Sie die PTT-Taste, und sprechen Sie in das Mikrofon. Lassen Sie die PTT-
Taste los, um zu empfangen.

¢ Flr beste Tonqualitat halten Sie das Mikrofon in etwa 3 — 4 cm Abstand zum
Mund.

EMPFANGEN

Wahlen Sie die gewiinschte Zone und den gewiinschten Kanal aus. Wenn fir den
gewdhlten Kanal Signalisierung programmiert ist, héren Sie einen Ruf nur, wenn das
empfangene Signal auf Ihre Transceiver- Einstellungen passt.

=
==

AN II 7))

J@ (Or=— 4

Status-indicator Luidspreker
Verlichtingssensor Bedieningsknoppen
NX-3000-serie
Display
KENWOOD )

==

RN

Status-indicator

NX-1000-serie

Bedieningsknoppen

Luidspreker

Display

Status-indicator Luidspreker

Microfoon

AAN/UITSCHAKELEN
Druk op [(h] om de zendontvanger in te schakelen.
Druk nogmaals op [(®] om de zendontvanger uit te schakelen.

VOLUME INSTELLEN
Druk op de knop geprogrammeerd als [Volume omhoog] om het volume te verhogen.
Druk op de knop geprogrammeerd als [Volume omlaag] om het volume te verlagen.

ZONE EN KANAAL SELECTEREN

Selecteer de gewenste zone en het gewenste kanaal met behulp van de knoppen
geprogrammeerd als [Zone omhoog]/ [Zone omlaag] en [Kanaal omhoog]/ [Kanaal
omlaag].

ZENDEN
1 Selecteer de gewenste zone en het gewenste kanaal.

2 Druk op de PTT-schakelaar en spreek in de microfoon. Laat de PTT-schakelaar los
voor ontvangst.
* Voor de beste geluidskwaliteit houdt u de microfoon ongeveer 3 ~ 4 cm van uw
mond.

ONTVANGEN

Selecteer de gewenste zone en het gewenste kanaal. Als signalering is
geprogrammeerd op het kanaal, hoort u alleen een oproep als het ontvangen signaal
overeenkomt met de instellingen van uw zendontvanger.

(o)

e sy
U1
QO ~—
\ )]
Durum Gostergesi Segici

Aydinlatma sensoéru

NX-3000 serisi

Operasyon digmeleri

Ekran

W

{L KENWOOD

LS N

Durum Gostergesi

NX-1000 serisi
Ekran

Durum Gostergesi

Mikrofon

ACMA/KAPATMA GUC DUGMESI
Telsizi AGMAK igin [(h] digmesine basin.
Telsizi KAPATMAK i¢in [(D] digmesine tekrar basin.

SES SEVIYESINi AYARLAMA
Ses duzeyini artirmak igin [Ses Arttirma] olarak programlanmis diigmeye basin.
Ses duizeyini azaltmak i¢in [Ses Azaltma] olarak programlanmig digmeye basin.

BOLGE VE KANAL SECME

[Bolge Arttirma)/ [Bolge Azaltma] ve [Kanal Yukari]/ [Kanal Asagi] olarak

programlanmis diigmeleri kullanarak istenilen bolgeyi ve kanali segin.

ILETIM

1 Istenen bdlge ve kanali segin.

2 PTT dugmesine basin ve mikrofona konusun. Alim igin PTT diigmesini birakin.
* Eniyi ses kalitesi igin, mikrofonu agzinizdan yaklasik 3 ila 4 cm uzakta tutun.

ALICI

istenen bélge ve kanali secin. Sinyal secili kanala programlandiginda, aramay! yalnizca
alinan sinyal, telsiz ayarlarinizla eslestiginde duyacaksiniz.

—
NE—

—
1T

‘Evdelgn kataotaong Hxeio

AloOnTrpag dwTlopov Kouprda Aettoupyiag
Zelpa NX-3000
0B86vn
Va7==5]
I3 HLKENWOOD
! i N
S e | —=—"
V) [} I ] Y
1
I
'Evéelgn katdotaong Koupra Aettoupyiag Hxeio

Zepa NX-1000 )
0086vn

'Evéelgn katdotaong Koupra Aettoupyiag Hxeio

Mikpépwvo

ANOITMA/ KAEIZIMO ZYZKEYHX
Migote 10 TANKTPO [(M] YA VA EVEPYOTIOCETE TOV TIOUTIOSEKT.
Meote To MANkTPo [H] Eavd yia va amevepyoTo|OETE TOV TIOUMOSEKT.

PYOMIZH THZ ENTAZHZ HXOY

MigoTte TO TTANKTPO TIOU Eival TIPOYPANUATIONEVO WG [AVENON €vtaong] ya va
avePAceTe TNV £VTAOT) TOU XO0U.

MigoTe T0 TANKTPO TIOU gival Tipoypappatiopévo wg [Meiwon évraong] yla va
KATERACETE TNV EVTAOT) TOU XOU.

EMIAOTH ZONHZ KAI KANAAIOY

ETuA€€Te TV emBupnTr) {wvn Kal T0 EMBUUNTO KAVAAL XPNOWOTIOLWVTAG TA TIANKTPA
TIOU €ival TIPOYPAUMATIONEVA LE TIG AstToupyieq [Zwvn emavw]/ [Zwvn ipog Ta
katw] 1 [KavaAl emavw]/ [KavaAl mpog ta katw].

EKNOMMH
1 EmAé€te Vv erlBupntr {wvn Kat Kaval.

2 MM&ote to dakomn PTT kat piAnote oo pikpodwvo. Abriote to dakorm PTT ya
va AdBeTe KAron.
¢ [la v KaAUTEPN SuvaTr) TIOLOTNTA X0V, KPATAOTE TO HIKpOPwWVOo o€ andaoTacn
niepimov 3 cm €wg 4 cm amno To oTOUA 0ag.

AHWH

EmuAg€te tnVv emBupntr {wvn Kat KavAaAl EAv oto eTAeyIEVO KavAAL EXEL
TIPOYPAUMATIOTEL onpatodoaia, 6a akouoeTe pia KANon povo eav To Aaupavouevo
onpa Tapladel Pe TIG PUBUIcELG TOU TIOUTIOSEKTN 0ag.

_——

~ 11 ‘7*‘?3
eI O==
2
Indicador do estado Altifalante

Sensor de iluminagdo

Série NX-3000

Botdes de operacao

Display

[romommo

RN )

Indicador do estado Altifalante

Série NX-1000

Botdes de operacao

Display
o
g@ ' (Faih(CEnwoon))
=

Indicador do estado

Botbes de operagéo Altifalante

Microfone

MANEIRA DE LIGAR/DESLIGAR A ALIMENTAGAO
Prima [(M] para ligar o transcetor.
Prima [(D] novamente para desligar o transcetor.

AJUSTE DO VOLUME
Pressione o botao programado como [Aumento do volume] para aumentar o volume.
Pressione o botéo programado como [Diminuicao do volume] para diminuir o volume.

SELEGCAO DE UMA ZONA E CANAL

Selecionar a zona e o canal pretendidos usando os botdes programados como
[Incrementa zona]/ [Decrementa zona] e [Incrementa canal]/ [Decrementa canal].

A TRANSMITIR
1 Selecione a zona e o canal pretendidos.
2 Prima o interruptor PTT e fale no microfone. Solte o interruptor PTT para receber.

* Para melhor qualidade sonora, segure o microfone a aproximadamente 3 ou 4
cm da boca.

A RECEBER

Selecione a zona e o canal pretendidos. Se a sinalizagéo tiver sido programada no
canal selecionado, ouvira uma chamada apenas se o sinal recebido corresponder as
definigcoes do seu transcetor.

© 2022 JVCKENWOOD Corporation





